9 by 9 Kakuro Addition Puzzles

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of

each vertical block the number on top. Each digit can only be used once per
block!

13 27 14 27 12 11
16 15 11
9 7 |58
13 28
6 26 8 7
11 10
9 2 9 20 8 22 13
15 12
1 5 N2 4
13 19
5 33 6 5
12 12
11 11 4 13 7 13
32 12
10 2 11 5 11 2

11 3 11 13 3 6
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Answers

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of
each vertical block the number on top. Each digit can only be used once per
block!

13 27 14 27 12 11

Cl719 2187 083

Cle | 7158613847

911 2 9 2010 8 2 22 13

1403125048

S8l 534615

11 1112 8 4 1312 5 7 13

131975 8|V 84

10 8 2 11 6 5 11 2 9
11 3 11 13 3 6
162 P18 4 112
1511 21319 °1 2|4
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